BEL R AIRE DilE FEE BEPE BEE(TH)

REASRARMBRERSE Bl JB 5 R AR ET gl BET 16,000
REASHRHEhBRERSE mXA [E S AR FRET mXA HKERT 80,000
RENEREBRERSE HETESHLAILDE2H JB & AR AR ET R RKET 1Fh 70,500
BEAERERERFSE XENTRAK—E [E S AR FRET -5 FAKEET 48,000
SIRALW =EEW JB 5 R AR ET =B g T 73,000
REMBERER =EGh/iRIEDY) B BB FRET =B HRE(E 29,500
B Tag# xR Cal) =5 JB 5 R AR ET SR /LT 25,000
B 1B xR CALL) 15 (Kk) JB &5 AR AR HT 5 T 40,000
BREHE TEHAEFEERER JB & AR AR ET =RLHE BB T 7,905
HRBER FEMFERHEHR B BB FRET =B EET 4,650
ERHE —REELRE - JB 5 R AR ET 47 RI=ERET 9,902
HRBER —RRE LR — =R [E S AR FRET £ A A 6,696
ERERA K (EEAHBh) TEHHERHEHR JB & AR AR ET BES ERMET 145,000
B REBR K FEMAERERRER B BB FRET # BRI K AR 7,440
SEFEY B POk — %R E KA R R JB & AR AR BT B8 2& BARE RE-HE 13,206
1BY £S5 1E (B EHE) FEMFERHEHR B BB FRET =B EIFRE BHMHET 70,000
1BY £541E (R ERHB FE A E SRR JB & AR AR ET R TEREAE FEMEET 100,000
1BY £S5 (B EHE) FEMAERERRER B BB FRET =B HILFBBOX BRMWET 6,500
1BY £541E (R ERHB — %R E KA R R JB & AR AR ET B8 2& FE BEwHET 20,000
IR+ 381kt 5k GERR) FEMAERERRER B BB FRET =B BEXERT 13,580
IR 38 # bt 5k GERR) — % IR KA R AR AR JB & AR AR ET BES ERNET 9,700
REARBREXE FEMFERFEHFR EH [E S AR FRET fRE (EM, X EfR IS 20,000
“N- i EOLCE TR AR E — M EEAFIAEZRR (Eb B S ERFRET ZSRKAA [Fh |EBRERNOBEREL 37,050
ANIRER =g A2 ERFRET i3 RET 19,000
ANHE ZHRAIAR BN JB 5 R AR ET SE RAMET 19,000
ANIRER =g A ERFRET i3 mABET 19,000
WEFREHK (REREX) ZHE)INER)N JB & AR AR ET Il BRI 50,000
EMEXENRBIAFECAND ZHRsAnI g A ERFRET B EET 47,500
SMER Hh ER IR SR (— A% SE JB & AR AR ET BES RI=ERET 1,000
ENEXNENRBIBE(BH) ¥ B BB FRET -3 B2 - FEMEET 14,250
EMEXENRBELAFTE W) xE JB 5 R AR ET xE g RYXERT 19,000
ENEXRENRBIBE(BH) 5 B BB FRET &5 g AXYxtHELT 13,300




